
©2 f2K0h1I1J KKauWt9aY OSrokfQtZwXaEr8eo NLrLOCh.N O 4AslJl8 urliygvhjtzsu Qr0eIsCewr0vJekdN.M 0 pMuaadpe0 nwHi2tkhy 3I QnefciKntiRtmeD IAHl1gfeYbvrWa4 D2C.4 Worksheet by Kuta Software LLC
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Spring Final Exam Review - Conics

Identify the center and radius of each.  Then sketch the graph.
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Identify the center, vertices, co-vertices, foci, length of the major axis, and length of the minor axis of
each.  Then sketch the graph.
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Identify the vertices, foci, asymptotes, length of the transverse axis, and length of the conjugate axis of
each.  Then sketch the graph.

11)  

   

(

   

y

 

 + 1)2

16
 − 

     

x

 

2

16
 = 1

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

12)  

     

y

 

2

16
 − 

   

(

   

x

 

 + 2)2

9
 = 1

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

13)  

 

−

  

x

 

2 + 

  

y

 

2 − 2

  

x

 

 + 2

  

y

 

 − 9 = 0

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

14)  

 

−

  

x

 

2 + 

  

y

 

2 + 2

  

x

 

 + 2

  

y

 

 − 16 = 0

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

15)  

 

−9

  

x

 

2 + 16

  

y

 

2 − 64

  

y

 

 − 80 = 0

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

-3-



©N Q230U1k18 YKQuOthat YSKosfYtlw6aqrxeu GLiLrCp.B n rAolnlv hrRiNgKhKtssO ordelsgeerxvceedm.8 Q 4M2ald1eP ewFiptihr 1I LnkfaicnIi3tveH DANltg1elbirFan e2R.E Worksheet by Kuta Software LLC

Identify the vertex, focus, axis of symmetry, directrix, and direction of opening of each.  Then sketch
the graph.
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Classify each conic section.

22)  

 

2

  

y

 

2 + 

  

x

 

 + 27 = 16

  

y

 

23)  −24

  

x

 

 = 

 

−4

  

x

 

2 − 4

  

y

 

2 − 4

  

y

 

 + 27

-4-



©u G2N0A1t12 HKXuSt9aC VSroifKtTw1afrMeh CLqLsCx.S W PA1lmlB Cr8iMgjh4tWsx Or8ers7e8rPvcefd0.w 5 OM5ajd6e1 QwmiYtThV qI 7nGfUiSnKiMtUeP iAtl6gteobyr2aS w2h.v Worksheet by Kuta Software LLC

24)  

 

−6

  

y

 

 + 

  

x

 

2 − 9 = 

   

y

 

2 + 4

  

x

 

25)  

 

4

  

x

 

2 − 90

  

y

 

 + 16

  

x

 

 + 205 + 9

  

y

 

2 = 0

26)  

 

6 + 3

  

x

 

2 = −

  

y

 

-5-



©y e27031d1o OKpu3tIae XSVoafPtJwYa4rUe0 hLOLBCb.v 4 RASlUl2 Irpi9gvhBtisL rr9ebsyerrFvnePdJ.8 H IMPazdkeL qw0imtqht kI Snjfgi4nNi5tbe3 GAVltgzecbOrnaZ k2P.k Worksheet by Kuta Software LLC-6-

Answers to Spring Final Exam Review - Conics
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